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COMBINE LIKE TERMS: Worksheet 4

Simplify by combining like terms.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

2X + 15x

8y - 7t — 5y

-6w + 3X + 4w + X

3f —8g — 10 - 5¢

X+ 14 -6x+2

4(x - 9) — 6x

8(x+7)+5(2x +1)

-11(y + 1) + 3(4y + 3)

6(t—3) — 3(t— 3)

5(z-1)+3(4z+2)
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COMBINE LIKE TERMS: Worksheet 4

Simplify by combining like terms.

1) 2x+15x 2X +15x =
17x

2) 8y-Tt-5y 8y —T7t—5y =
3y—Tt

3) -6wW + 3x + 4w + X —6W+3X +4W+ X =
—2W+ 4X

4) 3f-8g-10-5¢ 3f -8g-10-5g =
3f —-13g-10

5) X+14-6x+2 X+14-6Xx+2=
—-5x+16

6) 4(x-9)—6x 4(x—9)—6x =
4x-36—-6X =
—-2x-36

7) 8(x+7)+5(2x+1) 8(x+7)+5(@2x+1) =
8Xx+56+10x+5=
18x + 61

8) -11(y+1)+3(4y+3) —-1Uy+D)+3(4y+3)=
) v ) 4y ) -11y-11+12y+9=

y—2
9) 6(t—3)-3(t—23) 6(t—3)—-3(t-3) =
6t-18-3t+9=
3t-9
10) -5(z-1)+3(4z+2) -5(z-D)+3(4z+2)=
—-52+5+122+6 =

7z+11



